


* LI IR PR

\ . F A FRIR
/ RS




%

1 think, therefore I am.

£ HITR R

=HEMTRE S, W

, 1t 11 — 0
2 4 8 16°
1 1 1 1
g T2 e 1z v 0
3 5 6 100 101
2 % 5 "9 1000 7 —1

1, 2, 3, 4, ..10000, 10001, .. — 4

IRAERTLIX LEAF 2L FE D 7



&5 RITRBR

EEAF, o, ERMES woof woofl
nBNZU M A LAY,

A|LEZR5! mm—$¢%ﬁﬂiﬂﬁ
_‘Iéi LEEn, HZ %
Eann

a, = f(n)

KA FRrFUESRIRI =135,
PEENHIARIE R, a,hY
(B — 152 A
Eféﬁﬁ\%‘ﬁﬂ?ﬁ%ﬂﬁﬂﬂ’%&

icfE: ZHn - +oo,

a, > A

g lim, ., a, =A4

e Ll




25 % BR A9 E X

XBRI {(x, ) MERa, MR TELRIL
BEARILEEMN, =Sin> Nif, AFR

Ix, —a| < &

TR, MFRalsZXF{x, }BIRER, BFREXF

{x, & Fa, ic{Elim, ., x,, = a.




MR3

&M IR PRAYMERE,

FUBRLA T 25 RIS -
BT, #HI{—"— 2 EisR?

B2, #FI-1)m1s

%13, #%{a}



TR 25>

1. KTFUEHIRIRBRFF

11 1
)1,=,=, =
2" 3

n

@1,_1, oo (_1)n—1 e

@2,4,6---,271,---;

1 4 n+(-1)" 1! _
@2,5,_,..., e

3 n



HT 2R

n3+3n?2+1

1. li
nooo 4n3 + 2n + 3
. 1+2n
. lim >
n—-»oco N
1,1, 41
.22 2
3. hm1 1 1
n— oo
3t3z++am
_ 1 1 1
4, lim —+-—+ -+



ZAFURBRAYTERR
1 M ES 5 ROR PRI — R,
IEEE2 IS E 5 R A Y.




REEINRIR

Dx — oo

%

1 think, therefore I am.

516 RES (x) =
{REEE H1Z R E A B %R ¢
MWEx — oo, y2 Ty’

')%er—\

N4

y—0
X > —00
0

X — +oo
y—0

> X




RZRFRATEN. (x — o0)

ANERZx — ooltf, RREYS () ERRFET—1MHEERREEA,
ﬁﬁﬁﬁﬁﬂﬁ@ﬁf(x)%x — oYK R

A lln}nf(x):A Bx —> o, f(x)—>A

lim f(x) =A(x - 4o, f(x) = A)

X—+ 00

Jim f(x) = AQx — —o0, f(x) > 4)

8 lim f(x) =4 < 11m f(x) =AH Il_ir_nmf(x) =A

X—00



1. FHx — coffT,
f(x) = 2B LRER?

B2, Hx — oofff,
() = 3+ = HTARRR?

B3, Hx — oofy,
() = Q) A T ARBR?




REEINRIR

(2

%

1 think, therefore I am.

516 RES (x) =
{REEE % R Y E

')%er—\

UK

WEEx — OfF, y=2IERLAY?

y = —

x - 0"

N4

0\:

x - 0%
y — +00



PRESIRPRAVEN. (x — o0)
REEY = f () ERx NEREEEEN (TEx aILiRE)

ANERZx - mftf, BRENS () TR T—MEERISEZA,
ABAFRA BRI (x) Zix — o IR IR

24 limf() =4  Hx o, f(x)- A ;%‘x
X— — 0
lm f@)=A Hflo-0)=4 [ Frakl
E"_f\)ﬁxo'fg
lim &[(x) =A Hif(x,+0) =4 [ } HVASZl|x

518 lim f(x) =4 & lim, f(x) = AH. lim_f(x) = 4

X—=>X0



o x->07, f(x)—>1
x -0, f(x)->1
lim f(x) =xllr(1)1+ fx)=1

x—>0"
« lim £(0) = 1
Ny
y->1ly—-1
— |[0«— >)C'
x>0 ] x-0"




